Join Tele

India has target of having 450 GW of

"énewable energy by
(A) 2025 (B) 2045
(C) 2040 (D) 2030

\ccording to Bourdie
nusic, interest in ar

(A) Social capital
B) Cultural capital
C) Human capital

u Knowledge of classical
t are an €xample of

D) Psychological capital

ue to lanthanoid contraction
<hibit similar radjj.
A) Cd and Ay

(B) Nb and Os
") Rh and Re

(D) Zr ang Hf

ho wrote a book, ‘Se

crets of the Faithfy]
usader’ ? ¢

) Francesco Balduccij
) Marino Sanudo

) Nicolo Polo

) Marco Polo

ich of the following state has launched
llet Mission’ with the objective of making
state a millet hub of Indja ?

Karnataka (B) Haryana
Chhattisgarh (D) None of the above

ludent goes to school at the rate of

km/h and reaches 6 minutes late. If

travels at the speed of 3 km/h. He is

minutes early. The distance (in km)
veen the school and his house is

5 (B) 1
3 (D) 4

President of India can impose
onal Emergency under Article
that is caused by

War

nternal disturbance
External aggression

All the above

ontinent which has highest growth rate
pulation ?
\sia ‘i

(B) Europe
Jorth America

(D) Africa

N
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CMES-32
L wmgd 45 GW?a‘?mﬁzsz&armaqagq
T @ g
(A) 202 (B) 2045
(C) 2040 (D) 2030
2 ?ﬁﬁ%mwwﬁmmwﬁﬁ
1 U Jamger @ |
(A) amfyes g
(B) el goh
(C) W g
(D) Wﬂéﬂrﬁraslisﬁ
3. M dpe ¥ a T ey
AT R |
(A) Cd 3t Ay (B) Nb 3 O
(C) Rh 3R Re (D) zr 3R Hf
4. %ﬁ?ﬂmaa‘?%m’w%é@m
?
(A) ST sretgwt
(B) w0t wrger
(C) Pt et
(D) AT i)
5. ﬁm%@aﬂéﬁn—ﬂmﬁ‘ﬁézﬁwmaﬁ
ﬁézaamﬁ%aéw%mumﬁﬁm%?
(), FIeH (B) ®ftarom 11.
(C) Bxfterre (D) 3T & & 1 7
6.\ THoH 2% ﬁs.ﬁ./dasﬁw%é@gaw%
W6 e ¥ A wgw 2 | o 7w am
3 %zﬂ/a'a?m“rnﬁrﬁm%, @R 10 fﬁqz'qaé
qgar 8 | T 3R 3k R after Y g (Rt ) 2
(A) 5 (B) 1
(C) 3 (D) 4 12.
7. RA & TAf 39=8% 352 ¥ ded U AT
o R E, S FERodMEl
wE i
(B) TTaf
(D) i . gaitw ? 14.
8. g WETA FreeH TEET G T
S (B) T
(a) R (D) S
(c) Il ST

9. Powers to e
under

(A) Section

W Code, 1

(B) Section

Code, 1t

© Section

Code, 16

(D) Section :

Code, 19

10. Read the follo

question that

III. C earns Je:

taller to D

IV. Ais taller t

V. D earns mc

shortest in

Who among the
A) A
(B) B
(C) D

(D) Cannot be de

Samir started frx
Inspection duty.
for a distance of 4
market and travell
now turned left ag:
for 200 m and t
straight for 600 m
Police station ?

(A) 4.4 km

(C) 3.4 km

(0.5)° - (0.4)’
(0.5)" +(0.4)’
(A) 0.9
(€9

ise

Frogs can respire i
(A) Lungs
(C) Sensations

Srinagar is located
(A) Chenab
(C) Ravi
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10.

11.

12.

13.

14.

«# Code, 1973

R

Powers to examine th
under
(A) Section 313 of Cr

€ accuseq Comes

lming] prOCedure

(B) Section 314 of Crim;
Code, 1973

(C) Section 315 of Crimip
Code, 1973

(D) Section 316 of Crimin
Code, 1973

nal Proceqy, e
al Procedyye

al Procedyre

Read the following carefully and answer the
question that follow :
I. A,B,C,DandE are five
friends
II. B earns more than E, but is as
tall as C
Ill. Cearns less than A, but is
taller to D and E
IV. Ais taller than D, but earns less than E
V. D earns more than A, but is the
shortest in the group
Who among the following earns the highest ?
(A) A
(B) B
€ D
(D) Cannot be determined

Samir started from his Police Station on
Inspection duty. After travelling straight
for a distance of 4 km he turned left for the
market and travelled straight for 600um, He
now turned left again and travelled: straight
for 200 m and turned leftsand travelled
straight for 600 m. How far Samir is from
Police station ?
(A) 4.4 km

(C) 3.4 km

(0.5)* -(0.4)’"
(0.5)° +(0.4)?
(A) 0.9

() 9

(B) 3.8 km
(D) 4.8 km'

is equal to

(B) 0.09
(D) 0.009

Frogs can respire in water thrqugh
(A) Lungs (B) Skin
(C) Sensations (D) Nose

Srinagar is located on the banks of the river
(A) Chenab
(C) Ravi

(B) Jhelum
(D) Sutlej

iT\l

9.

10" f;/ﬁqmﬁﬂwﬁwaé%%wm&mél

A5
[
TN

GRAO]

11.

12.

13.

14,

CMES - 82

- 3tfrgTa @ 0 <l WifRrl ferars st
"o § 7
(A) Ui SR wfva,
(B) emu@magnﬁmv%m 1973 4 urT 314
(C) Wﬁ%é@mﬁﬁm, 1973 # um 315

; _,(.D) arauferes 32 wfshan ditar,

Cliiof

1973 it um1 313

1973 Hr umr 316

I. A,B,C,D3NEvHATR

II. B, E ¥ ST HH7d1 8, AR 98 31 & ey
? S fr

C, AR FHFAM 2, AfFA a8 D IR EQ
el v
A,DémW%,éﬁmEémm%
%A%ﬁwmm%,ém%mﬁm

II.

Iv.
V.

9 8 W 9ol SR EEaT R ?
(A) A

(B)'B

(C) D .

(D) TRuffa 7€ &t < gepdt

i e gdt W gfem R A g& ww@
2 | 4 forrft e <o % a1 I et 3 fore e e
2 3 600 . Tem =rerar | 98 T: ¢ g @ 3k
200 . Fem wrerar @ | R and gean R it 600 .
e wean @ | R gfos Rem | e R ?

(A) 4.4 Tt (B) 3.8 fodt
(C) 3.4 Tt (D) 4.8 ferit

(0.5)" -(0.4)"
(0.5 +(0.4)"
(A) 0.9 (B) 0.09

€ 9 (D) 0.009

e qrHt H Yaud fhash mem A a7
(A) FHS (B) T
(C) ¥ (D)

R fore T o e R R 7
(A) Ferma (B) 3™
(C) Tfa (D) T

EXE

foroas st ® ?
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18. Find the odd one oyt in (1 rl I
group of letters. 1s. ﬁﬁ’q AN A
(A) BGLQ e (B) FKPT _ (A)BGL s /tB)F“',T 24
(C) YDIN - (D) MRWRB ‘4 (C)YDIN (D) MRWB
16. Which of the follow}r’)g is not a built in chip ? 16. ﬁ%ﬂﬁﬂaﬂ?-mmﬁﬁ -Fm R adiy 7
(A) Level 1 (B) Level 3 AA) S 1 (B) et 3 o :
(C) Level 2 (D) Level 0 (C) Faer 2 (D) d&w 0 i " 25.
17.  Data lines are collectively known as a 17. A B emg wg @ FRIard
(A) Address line (A) T3H @
(B) Data bus —B) ST 9g 3
(C) Control lines (C) Heret wrgq e
(D) None of the above (D) 3% & @ ¢ 7 ;
18. Who was popularly called as “The Grand Old 18. f=foifag & @ 7 “GRa ¥ i et & 7 3
Man of India” ? a’mﬁmgq 7
(A) Dadabhai Naoroji \A) areniTé s
(B) Lala Lajpat Roy (B) < 119 g 27.
(C) Balagangadhar Tilak (C) SR faeten
(D) Gandhiji (D) mefist
19. Which of the following button does not 19. “fpHiefan # & #-w wex woie A 28.
appear on the command bar ? e aman ? |
(A) Home (B) Refresh (A) 89 L(-B)/ﬁﬁm l
(C) Print (D) Read mail (©) e (D) red= :
e TS 2 |
20. Who was called as Grand Monarch of 20. @qwqﬁﬂm (5= ) R T . &
) B (B) Louis X\ (&) =géa-xrv LBy i e :
A) Louis XIV oui g _XVII
([c; LOEE XVI (D) Louis XVII . (C) TF|-XVI (D) TFE-XVI -
. : . E\]i"'ﬁ 21. @F‘ﬁmxy—cﬁ @R ] (
21. An equation xy = c gives in ;;El (A) ST Cﬂﬁﬂ'ﬁm : =
(A) Rectangular hyperbola ) ] n‘g (
(B) Linear demand curve (B) tr@*“"q;ﬁﬁ | ERE
(C) Individual demand curve . 1 30. C
(D) None of the above (D) mft‘éiﬁéqﬁ : a
' 22. A, sfufrm ¥ e, w1l | i ¢
i der IT Act, - Medns a person : (
2 3}2061; intended by the originator to receive mﬁ%ﬁmmmmmﬁ‘ / ot
the electronic record but does not mclude mm%ﬁhmﬂﬁémwﬁmﬁ' : 31, 2
any intermediary. (A) T i :‘
(A) Authority ' : - ; :
(B) Signatory" /rg)/m 4 32 T
(C) Addressee ' (C): = Eﬂi. AT o 3 St
(D) None of the above g - .(D) I - e
23. The first Biosphere Reserve established in 23. wRa ¥ e wuw sRed fod a.‘:
India - . A et B) AH®
(A) Nilgiri (B) Nokrek Vf’)( (B) P (
(C) Nanda Devi (D) Similipal (C) a1 3= (D)
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24.

25.

26.

27.

28.

29.

E

EHE O nwon
30.

32.

Join Tele

ISP stands for

(A) Internet Service Provider
(B) Internet Service Protocoe]
(C) Intranet Service Protoco] .
(D) Intranet Service Provider

CSSRI stands for

(A) Central Soil Sampling Research Institute
(B) Central Soil Salinity Research Instityte
(C) Central Sand Sample Research Institute
(D) Common Soil Sample Research Institute

The Organ of the UNO which consists all the
members of UNO as its members

(A) Security Council

(B) Social and Economic Council

(C) General Assembly

(D) Secretariat

What is the maximum number of pieces into
which a cube can be cut by 10 cuts ?

(A) 100 ) 11

(C) 80 (D) 120

Scarcity is the root of

(A) All economic problems
(B) Social problems

(C) Political problems

(D) None of these

The magnetic moment p of a reyolving
electron around the nucleus varies with
principal quantum number n is

1
(A) pon B) Mz

D) ke

Cyclical changes during reproduction in rats
are called

‘ (A) Oestrus cycle
(C) Sexual cycle

2032 Olympic will be held at

(A) South Korea (B) Indonesia

(C) Australia (D) UAE
-The age of the father is four times that of the
son. 5 years ago, the age of th'c father was 7
times that of his son, then their present ages
are

(A) 40, 10
(C) 42,6

(B) ‘Menstrual cycle
(D) Asexual cycle

(B) 35,7
(D) None of these

-5.

art

e

CMES - S2
24. IE.wE.H. (ISP) # yoea 2
(A) 3T wffE Mamer
ABJ Seie aifa Wt
(C) T wfdw wrwta
(D) e wffa warget
25. HI.UH.TH.3M.3TE. (CSSRI) #1 Tae 3
(A) Hem wiza dmafem fad sReage
(B), Hge wizw Affd fed 3o
Q) dga s dme e 3fResge
(D) in @iga & e 3sReare
26. HYF U Y foha o7 § 67 U 69 & oft gee
TH A EAE ?
(A) grer aiteg
/({)Wﬁﬁaﬁtmw
(C) g |
(D) afvarea
27. 10 %R g0 T 94 ! ARy foha gwhel § e
gFare ?
(A) 100 11
(C) 80 (D) 120
28, Ff_ wIHAR|
S (A) T T THEn
(B) ARSI GHET
(C) TAfaeh gaEa
(D) 78 & =S T
29. I ¥ TRl S T IS TF T G
TTecd | WY@ F1EH WEAT n o WY TREfdd g 8
(A) pan - P
(C) K an? (D) pog
30. <& H Yo % SN =fshen aitac _
FHEA ¢ |
_A) WE T (B) w5
(C) Sifirn wh (D) AT sh
31. 2032 % i o g |
(A) afE B SenRmn
(C) arrferam (D) 3TX.

32, frm iy EHmgH TR | 5T far
| aﬁawrggaﬁa'ngﬁmﬁmﬁmﬁmm%

& 40,10 ¢ (B) 35,7 2
Eus (© :1\2, 6‘ (D) T & = T

7

S T ——
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35.

36.

37.

38.

40.

B

33.

1 -
Jetl=

Inacertajn
. Oown, 409
hair, 309, have &

A) 2 '

((C)) 122()[”8 (B) 36 hours El
2 hours (D) 48 hours X ol

The sum of three Numbers is 109, If the

cn se i
S : 3, then the se vond and third be

cond number i
((é)) 3(7) (B) 45
(D) 48

Which of the following Committee has been
Set up by Reserve Bank of India to review
working of Asset Reconstruction Companies
(ARC) in the country ?

(A) N.C. Muniyappa Committee
(B) Rajnish Kumar Committee
(C) Sudarshan Sen Committee
(D) None of the above

India’s first ‘Water Plus’ city under-the
Swachh Survekshan 2021 is

(A) Dehradun
(C) Mysore

(B) Chandigarh
(D) Indore

The fourth World Social Forum (WSF) meeting
was held in

(A) Delhi
(C) Porto Alegre

(B) Mumbai
(D) Montreal

If the tenth day of a month is two days
earlier than Friday, what day will it be on
the nineteenth day of the month ?

(A) Sunday (B) M(?nday

(C) Wednesday (D) Friday

Who is the first women President of.the
United Nations General Assembly of India ?
(A) Sarojini Naidu ' _

(B) Madam Vijaya Lakshmi Pandit

(C) Kamala Harris .

(B) 36 w2
(D) 48 92

€ 1242

3s. mmﬁwﬂ’mmz%wﬁ
W%WWWQ: e ¢

36. I aReleft it sfia (qomd,) 5
Wﬁmmm%mﬁwﬁﬂﬁaﬁm
Hﬁ%mmmmhm%mw%?
(A) T. Ht. glgun iy
(/fB)/mWHﬁﬁ
(C) gexta & wffy
(D) I A & 1S 7]

y//waéwzozl%aiaﬁammm
‘IR TE’ TR 2

(% (B) g

©) ¥g (D) Rr

38. aﬁﬁaﬁ‘mmmmmqaﬁaﬁﬁf
Jfora Y o7 oft ?

(A) feoett

(C) Wt Tt

39. R e 1 10 f R yFAw A 2 Ra v B
TR & 19 3 e F-w1 R € 2 |

(A) Tqan (B) WMER
(C) FHER ADT R

40, I T @I H TEch Hiden R AL
AT T

RILEY
(B) few fawan wesh i
(C) e &

(D) None of the above

(D) IR & & i et
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41.

42.

43.

44.

45.

46.

47.

They direct appropriate be
to-day practices and expre
(A) Norms

(C) Folkways

havior ;

: In the day-
Sslons of g cultu?i
(B) Sanctions

None of these

will be the In-
sub-division in the disgiz?_arge ot
(A) Additional Superintendent of po);
(B) Deputy Superintendent of Polic(:a e
(C) Inspector of Police
(D) Sub-Inspector of Police

Select the correct mirror image of the given
figure when the mirror is placed at line AB

A

2avod

<«
—_—

«—
AMAAJ

HMAAT

-«
_—

(D) |
2anorp

2anod

Which of these is a decomposer ?
(A) Crow (B) Tiger
(C) Rabbit (D) Fungus

Complete the sequence by filling in the
missing letters.

a c_b_ab_a_ca_c
(A) aabbcc

(C) abaccb

(B) accbab
(D) baccbb

It refers to the social position with defined
rights and duties assigned to these positions
(A) Status (B) Role

(C) Designation (D) Identity

What is the distinct ecological commu_nity
of plants and animals living together in a
particular climate ?

(A) Biome (B) Ecotone

(C) Population (D) Community

CMES - S2
41, ATHEGR R -ufifm B wenait afv st
- % 3fer raER A Fréfim = §
E§ﬁfﬁ (A) AHEE o Fﬂ?ﬁf
58 (C) (D) T & P 7
42. T R 3 e soed o A
(A) i gt e
By fere e
(C) gferm Friters
(D) gfera sufdiersh
43, & i wd <o vl g, o wdn @
@1 AB W@ I@12 |
A
LAKME
—_—
4__——
-
PONDS
B
AMIAI
A |—= (B)
?——
sdunoq
AMAAI
| «——
D —— (D)
2avod
44. T Y RH-T1TH ATAF & 7
(A) ®a (B) ==
(C) TEnw AP HTE
45. T Rl A AR T e B R |
atcabcabetatca_c
(A) aabbcc (B) accbab
(C) abaccb D}~baccbb
46. u%smﬁvﬁaﬁuraqﬁwﬁmfaﬁﬁﬁﬁﬁkaﬁaﬁ%
e g ety o wefifa w @
(a) feufa (B) ifirh
NeTR (D) WEEH
a7, Fafire ey o E T e del ik o
ffire wi R e o 1 FEd € 7
—tA) AW (B) TRW
(C) YA (D) Fgffe
-7- .
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48.

49,

S0.

S1.

S2.

53.

54.

55.

56.

SMPS stands for

(A) Simple Mode Power Supply

(B) Switched Mode Power Supply
(C) Simple Memory Power Supply
(D) Switched Memory Power Supply

Traditionally, the subject matter of economics
has been studied the following broad branches

(A) Deductive and Inductive Economics
(B) Positive and Normative Economics
(C) Micro and Macro Economics

(D) Static and Dynamic Economics

Vamasadhara river dispute is between
(A) Andhra Pradesh, Odisha

(B) Andhra Pradesh, Karnataka

(C) Andhra Pradesh, Telangana

(D) Andhra Pradesh, Tamil Nadu

If the alphabets are written in the reverse
order, which letter wil] be 12% to the left of
the 16" letter from your left ?
(A) D (B) X
(€ w (D) v

The average of 5 consecutive even numbers
A, B,C,D and E is 52. What is the product
of Band E ? »

(A) 3000 (B) 2988

(C) 2916 (D) 2800

What is the maximum denomination of coin
can be issued in the country“as per the
Coinage Act, 1906 ?
(A) Rs. 1,000

(B) Rs. 10,000
(C) Rs. 100

(D) None of the above

system, the electron beam is
Swept across the screen one row at a time
from top to bottom,

(A) Beam penetration

(B) Random scan display

(C) Raster scan display

(D) None of the above

In birds, the forelimbs are modified

into

(A) Wings (B) Nails

(C) Beak (D) None of these

If 20 men complete one-third of a piece
of work in 20 days, how many more men
should be employed to finish the rest of the
work in 25 days ?

(A) 10 (B) 20

(C) 15 (D) 12

CMEs

48, wWumd g, (SMPS) %
(A) e g e St

A s et |

(B) stewew, Fafes; . ' 58.

51. Hﬁmﬁaﬁﬁwﬁ%@m%lmaﬁéw
F376 & amd 12 aF 315X 71 3y 2

(A) D (B) X
—TOWw (D) v L
52. 5 i ¥ WA A, B, C, D 3K E % siaq ‘
528,71 B 3R E 1 o e e 7
(A) 3000 4B] 2988
(C) 2916 - (D) 2800 7_'
53. faw sfafEm, 1006 & AR 30 F ik W |
AR Yo T ST b o7 et £ 7 | —
(A) . 1,000 (B) ¥. 10,000 .
A€) T 100 (D) ST & q
54. waﬁﬁ,séa‘{haﬁﬂaﬁwﬁﬁi
mqamﬁ@dﬁﬁm@mwmmw%y o
(A) = Fgr 1 ]
_(By ten @ feemt E% ‘
(C) T & feemt fan t
(D) I # & FIE T
55. uferdl & o fored see ST @ 2
(A) U@ :
() =ia :
86. aft 20 T¥ 20 Rt ¥ v fererd m qmama , 41
Fd # 25 R o wng
fRaifere fora st =nfye
(A) 10
(C) 15
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58.

59.

60.

61.

62.

In this question, two state
followed by two conclys;
conclusion(s) which best f
Statements :

1. All pig are animal

2. Some animal are not bird

ments are given
ons. Choose the
Us) logically.

Conclusions :

I. Some pig are not bird
[[. Some animals are pig
(A)
(B)
(C)
(D)

Only conclusion II follow

Only conclusion I follow

Neither conclusion I nor 11 follows
Both conclusions I and 11 follows

In zaid season crops are sown and
harvested in

(A) April-June

(B) September-October

(C) March-July

(D) December-February

Malabar Exercise is Military exercise of India
with

(A) US and Japan

(B) China and Japan

(C) Japan and South Korea
(D) None of these

To check for new e-mails, click the
link.
(B) Compose mail

(A) Sent
(D) Draft

(C) Inbox

A step down transformer is used on a 1000V
line to deliver 20 A at 120 V at the secondary
coil. If the efficiency of the transformer is

80%, the current drawn from the line is

(A) 3A (B) 30A E!'t‘{éfi
(C) 0.3A (D) 2.4 A %;ﬁ

Some boys are sitting in row. P is sitting 14"

from the left and Q is
there are four boys betweén P and Q, how

many boys are there in the row ?
(A) 19 (B) 21

7t from the right. 1If

(C) 25 S (D) 23

57.

58.

59.

60.

/LQ)/ﬁW

CMES - S2

va s , Ao R Rk ame & fred Ry
iﬁ:a&gﬁqshmmmammmm |

1. o garuy € |
2. FO I U T €
Froad -

I ﬁqmwﬁﬁ%l

1L TS I HITE |

(A) Faret Trsrd 11 S7gae T @

(B) e forsahd 1 1@ e ?

(C) 7 Frsd 13 & 11 T e
(D) A1 feard 1 3fR 11 g Fa &

e ¥ Hraw § wEd W8 St § o wd
STt 2

(A) a-SF |

(B) ferdar-araga #

(C) WS A
/@)%ﬁat—ﬁﬁaﬁﬁ

ATAEL-3BE {id < *
IFER |
(A4 . I SIH

(B) =i 3R <A

(C) STar St afdor it ofe
(D) 3 @ & T *@’%
i@ s fom w R s
(A) = (B) Fera A

(D) T

1w P g Rl dee W

62.

120 V W T 1000 V €T W 20 A
ggém%ﬁmm%mm% | afg
T ) FEEwa 80% B, A A &
@@ fEa?
(A) 3A

(C) 0.3A

FoaeH UfRAI A A3 ¥ | PR 1aatRalQang
F7ddMR |4 P a3k O s IR e & | Fhad
GECRICA kA

(B)‘ 30 A
(DL24 A

(A) 19 (B) 21
,/(L)/zs (D) 23
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63. Length : Metre :: Time 1P
(A) Pascal
(C) Minutes

(B) Ampere
(D) Kilogram

_Directiops (Q. No. 64 and 65): Study the following
information carefully to answer the questions
given below,

» green, yellow, pink,
orange and grey, not necessarily in the same order.,
Three of them are girls,

P likes yellow colour but d
T

grey and R likes orange,
the one who likes blue studies Finance,

64. Who is studying Civil ?
(A) T
(B) P
(C) F
(D) Cannot be determined

65. Which of the following is the
(A) Q,N, P
(B) F, Q, N
(C) F,D, N
(D) Cannot be determined

group of girls ?

66. A basic unit in Spreadsheet is %ﬁg
(A) Cell (B) Row k2 Y10
(C) Line (D) Column

67. The number of ways that 8 beads of different
colours be arranged in a necklace is

(A) 5040 (B) 2880
(C) 2520 (D) 4320

68. In a row of girls, Shilpa is eighth from the
left and Reena is seventeenth from the right.
If they interchange theijr positions, Shilpa
becomes fourteenth from the Jeft, How many
girls are there in the row 7

(A) 29 (B) 27

63. a.E‘Tf:"f’l?!t::’ﬂ!}'q:?
(& I (B) Ty g
(©) fire (D) feitm 2ogly
ﬁi‘.w(n.ﬁ. 643ﬁ255);=ﬁ;}ﬁqm11{7ﬁ$l3ma%%q
T = § ofy |
W fimp, kR T, Q, N 3k D fafir fdvagend ;p
,HR,ﬁwn,ﬁa,mﬁmaﬂmﬁmwéﬁ,a’tﬁs

mmmszﬁmﬁﬁnmamﬁmﬁahtl
W%mwﬁﬁlﬁﬁé?ﬁqmil
Paﬁlﬁmmtm'a%qignm HR 1 316799 7 et | 3
aﬁﬁrﬁawumwm%,zﬁ%hmm%am@
TR Y, Q, N R wg s, N it ¥ fawom @1 srerm w0 @
aﬁrmhmm%maﬁﬁﬁwmmmﬁ%am
WWW%leﬁRﬁW%HREﬂmm%
aﬂt%’ﬂt’ﬂﬂdaw%mﬁzéaamﬁmtﬁfnm%,
@ﬁéﬁmhmé,ﬁawammél

64. RfaaRwgw?
A) T
(B P
{O'F
(D) fyutfa =€ Rear <1 gaan

65. ﬁw%%aﬁ&aﬁq—masﬁzﬁww%?
(A) Q,N,P

) F,Q,N
(C) F,D,N

(D) feffd 7 foran s e
66. Uededmummes_ 3

_AA) ¥ (B) fei

() Xar (D) ww

67. ke ¥ It T & 8 Wl 7 waflm w1 &
el Y gE 2
(A) 5040 (B) 2880
(C) 2520 (Dy4320

68. wrgfndl it o fd H, frem w1 v ad @ aned,
T <1 o 7 @ el @ | AR @ T wm AW
4 wree et &, i firear and @ et g it @ 1 9

(C) 32 (D) None of these
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69.

71.

74. If

75. W




69.

AT

70.

71.

72.

73.

74.

75.

releaseq Moyj
Egoged the tickets. He w 3 Vllli'fo‘:ehose
lays after the trajley atcheq ¢ m o
movie was released 16 dqy. o5 Feleaseq %“ﬁe
- The

which Madhu watched aﬁ's befoyc the day on
Ovie, On whi
ch

d - -
ay of the week was the mor\:;e rel
On sunday » ¢€ased if he

booked the tickets

(A) Monday
(C) Wednesday ((g; ?lrl_ZSday
] ay

Which of the following Scheq
Constitution deals with Antj
(A) 9* Schedule
(C) 10™ Schedule

ule of the Ingjan
-Defection Law ?
(B) 12t Schedule

(D) None of the above

From the given

: . answer fi
one in whicl : %
embedded ?l the question

)
(A) Z] (B) ﬁ]
© ||} o) ||X]

Which number will come in the place of question
mark ?

101, 98, 93, 86, 75, ?
(A) 71

(C) 62

Which of the following is/are indicator/s of
poverty in India ?

(A) Malnutrition leading to poor resistance

to disease

(B) Lack of access to healthcare

(C) Lack of job opportunities

(D) All the above

If in a certain code, ‘CRAMP’ is written as
YNWIL’ then how will ‘GRASP’ be written in

reS, 'Select th
gure is hidden7

(B) 68
(D) 73

that code ? opeiD]
(A) CNWOL (B) CWONL :;;»P T
(C) CNOWL (D) CWNOL ~ #/&El

Which among the following is one of the
steps taken by Reserve Bank of India (RBI)
to Curb Money Laundering ?

(A) Adhar card

(B) KYC (Know Your Customer)

(C) Google Pay

(D) Phone Pay

69,

71,

%rm (B)

72.

73.

74.

75.
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(A) odfT rgesh
(C) 109 argersht (D) Swdram & A 9 7
R T I Fhal A @, 75 M 9, R

T g & afa d | b iiaaed

X

Kl
©||X] o) ||X]

A faeg & wum WA -Ht v s ?

101, 98, 93, 86, 75, ?

(a) 71 (B) 68

4€7 62 (D) 73

frfafga § & P-a1 v § T @ gEw e/ ?
(A) YU & ShTOT AT SRk & R & S §
(B) ETEET HaT T g 1 IV

(C) Al F araEdt i wHt

By SutEd ot

7f2 T g2 ‘CRAMP’ ® YNWIL’ feran st R
36 < § ‘GRASP’ ® F& feran stmem ?

AKX CNWOL (B) CWONL
(C) CNOWL (D) CWNOL

R = B 36 R e ek i e (s and.)
FT0 33T FeAT N Y U FeH 18 1
(A) AU

B F. . W, (A g HEN)
(C) T 3
(D) B Y

C NV
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76 .

77.

78.

79.

80.

81.

Join Telegram Group "HaryanadJobs.in"

Mura-Drava-Danube (MDD) was recently in
the news, it is related to

(A) Landform established by the Danube
river _
(B) World’s first five-country biosphere

reserve _
(C) New variety of fishes in Danube river

(D) None of these

Five permanent members of Security Council

are
(A) China, United States, France, the United
Kingdom and the Russian Federation
(B) China, South Africa, France, the
United Kingdom and Japan
(C) China, Australia, India, the United
Kingdom and the Russian Federation
(D) China, the Canada, UAE, the United
Kingdom and the Russian Federation

Points A and B are 100 km apart on a
highway. One car starts from A and another
from B at the same time. If the cars travel in
the same direction, they meet in 5 hours. If
the cars trav#l towards each other, they meet
in 1 hour. What is the speed of the faster
car ?

(A) 70 km/hour

(C) 60 km/hour

(B) 40 km/hour
(D) 80 km/hout

__is a general purpose
communications port through which data
are passed slowly over long distances
(A) Parallel port ’

(B) Serial port E
(C) Both (A) and (B e
(D) Neither (A) nor (B)

va L

Complexes in which a met

one kind of donor groups
(A) Homodentate
(C) .Heteroleptic

alis bound to only
are known as
(B) Heterodentate
= HOrnoleptic
The regions where f ers o
vegetables only, the farm;; il SPecialise i
(A) Viticulture (B) Miy Own as
(C) Truck farming D) p| a:::if ing
18% Non-Aligned Movemen; (NAanon
held at < M) ¢
(A) Baku
(C) Dhaka

Ummjt

CMES -~

76 W-m-tam g
i LS
)é?@ﬁmmaﬁgqﬁﬁ '
(B) Eﬁm%qgém%gﬁm - -

(©) Wwﬁqﬁﬁa‘@?ﬁw
(D) ¥ & ¢ 7

7. N IR ¥ vy v ge §

(A) M, T 3, e, 2 e e st
L3 0

(B}, =féor snfiem, wig, 3 Y3 fohren oy

— g , 

(C) <1, sefern, $fean, 2 e Ry s
w4t gy

(D) =, 7 %181, 3,13, 7 TTeds firen stz
w4t g

78. THUSMFWfigA 3k B 100 Frftfighiw
B THHA Y6 Bl 2 i s wargmt
PR B | 3R R wh & o A wwdt ¥ @
5 58 firerdt § | 3R i T q@ A aiv
TN ENTHE R A 1 2 d e ¥ | dw

FRA AR ? ;
(A) 70 et /eer (B) 40 faft/ear
(C) 60 famt/Her D] 80 feeht eiar
79. T WA I ] W 9 § g
e @ Jfws oR-4R s gl qe a9 s € |
(A) ﬂtéav’;‘é
ABPHUETIE .
(C) (A) 3T (B) Ei

(D) A (A) T8 (B)
80. et il T UTg Sharel T YR & qHHA B

YT e ], FEATL|

(A) GmEdt et

(C) fetafe= (D) B .
81. 3 & vl Rear act ool it gt & I

Geft #l ¥ w9 & S S 8 |

Ay S 1 el (B) i G

(C) T Qe (D) JERIT ,
82, 184 Ry aTidieH wRted dgen

(C) grAT (D)
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g

140 -44x9+3
—’-——-—’_"———_.

83 1 18+9+2 g%
2 Lol
.
2 3
; 5
84. Is the rag

S 0

ayments m.ade towards (;1;] tota] intere t

revenue receipts of the g, ¢ debt tkf

(A) Interest Payment tq Revé’nment_ e
(IP-RR) fue Receipts

B) Interest Lost to R

B (IL-RR) €Venue Recejpty

(C) Interest Payment t
(IP-RL)

(D) Interest Payment to R
Subvention (IP-RS) cvenue

o} RCVenue LOSt

85. Fusion of protoplasms between two motile
or non-motile gametes is called
(A) Plasmogamy (B) Meiosis
(C) Karyogamy (D) Plasmophagy
86. CMYK is combination of following colours
(A) Cyan Magenta Yellow Pink
(B) Coral Magenta Yellow Black
(C) Cyan Magenta Yellow Black
(D) Coral Magenta Yellow Pink

87. Which of the following is example “for
Circinotropous type of ovuch. N
(A) Tomato (B) oerzntia
(C) Mustard (D) ©p Siuted
i ilute
88, Tw, A and B contain &
£ sul%hg;)itcugiid' In the bomttjnf:’otfh:cid while
8 of water is double the & Facid is 3 times
y iy bottle B, the amouch mixture shod
that of water. How MUC% =0 der to preps
taken from each botltle leric acid containing
Slitres of diluted SYP

d water \
¢qual amount of ac! B l:
A) 2:3 (D) 5:6
€ 3:2 of forming
8 e capablllty
S Desert animals haveth .
—_ . urineé. ° (B) [sosmO
(A) Hypotonic (D) pilute N
a
% (C) Concentrate eres accﬁ? thrggyeaf
* The compound ‘36 at the ednbc the smn;ﬁc
amount oF Rs. Qs'a/hat WO}';}C amount at the
in Rs. 8,44%560- n th ps;iod ? 650
€rest acC e 5. 5
same rate in the 52" (B) gs 7,650
(A) Rs. 4,650 (D)
(C) Rs. 6,650
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140-44x943

%?ﬁl 18+9+_2 L
a) 22
3
E5E 2
2 (C) 4= 4
% 3 (D) 6=
84, — OThR R T I & g
o gt s g & o 1
(A) mmﬁwmup_m)
mﬁﬂﬁ%mmﬁﬂ(lbm)
(C) ST 7T & TSTE 711 (IP-RL)
(D) ST T & T 1M (IP-RS)
85. I a1 oA et o fie MeraTen &1 der

FEAT B
() PRI ] SrEhfT
(C) haeherad (D) FRETE=TTE

86. U WH.aL.%. (CMYK) Haaia 8
(A) Tarem dorr e fien
(B) el T I st
(C) frem S Ieh =A%
(D) it T2t et ek
g7, Frefifad & HE-T1 e ARk TR &
e & fag e ? -
A) TAH : -
EC; @i (D) Hvdfean

3 det A 3 B # a7 FeRfF T R |
A8 aﬁaaAﬁqmﬁwmmﬁmﬂﬁrTﬁ
3, Safh Sact B ¥ I ) e O
o &1 3 A ® | 5 ot 3W Ay TR
et S e % fare, R ave 3l @
T USRS s & Pt i

R s =R, ?
2:3 (B) 1:4
(€) 3:2 (D) 5:6 ﬁ
go, wEEIcHd Sfal % T = Biffa w0
' AR -
ﬂmmﬁ (B) AT
(C) wifsa (D) 9

. ofew. 25,500 ATRTRITAH a7 & 5 SR
e = %. 8,440.50 %, T 3 & it WEH aafy

3 Foray STHT RYAGTEN U] ST e g 7
(A) %. 4,650 B} ¥. 5,650
(C) %. 6,650 (D) . 7,650
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English Language %
Fill in the blank with g iate phrasal :
91. il 1n 5 pPpropriate phras 96. ~
verbs from the alternatives given below them, ey ”‘; # v f%'? A g § 7
Doctor my tooth without any (A) ()
pain.
B) (!
(A) Drew up ‘:(/B'){rew out B)
(C) Drew back (D) Drew on /(,ej (“”)
92. ’I‘hefollowingsentencecontajnsgrammatically (D) Hﬁéﬁé:ﬁﬁ
error or idiomatic error in it. You have to find
out that part of the sentence and choose the 97 . .
. 9 formd I9fiferat g
alphabet of that part as your answer. L = @
There comes a time when the need for peace 0y _ Eaf WW%WW% |
and closure is more great than the need for (A) Rrishg
undoing an injustice.
(A) There comes a time when the need for m 7
peace
(B) and closure is more great than €) T (
(C) the need for undoing an injustice. ‘ 0| ' 4
(D) No error (D) ¥4 @ I %%
93. * Fill in the blank with appropriate word from 98. g uyg 3 ARG &1 FiS off g PLIERR K g Cj
the alternatives given below it. . S
, it A = frelt Ry gam =7 s &
Pramod €veryone accepted the S ] Sl :
proposal. s 9 SEd € |
(A) Accept ((B]/Expect
(C) Asset (D) Except (A) fax
94. In the following question, a sentence has been (B) wgsiife
given in Active/Passive voice Ut of the four .
~ alternatives suggested, select the one which _/(E{Ei
best expresses the same sentence in Passive/ D i T
“; Active voice. (D) FH AT
_,v-"' Before festivals, the shops are 99. ()3afm e s FEAE
thronged with people making : A
various bargains, ) /(A‘)/ o7d farm
(A) Before festival people assemble at 3 Ity
shops to make bargaing (B)

(B) People make various (©) v
before festivals
(C) Before festivals people throng the (D) mﬂaﬁﬁ:ﬁﬁ
hops making varioyg bargains
The shops are thron
making bargains

bargains

ged by people 100. ‘2 ITTH’ GRTER T aref R

. . o
95. Fill in the blank with aPpropriate modals e 5
from the alternatives given below them, O (B)

m Bl :

help th a %
‘?,/S “Should °(§°°goes E (C) &
(C) Dare ) Ought (D) T @ 1§ 7t

\‘
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